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81-L 2

i) 58

ii)

iii)

iv)

v)

vi) /

/

vii) 15

viii)

I.

20  1 = 20

1. A, B C 

(A) A ( B C ) = ( A B ) ( A C )

(B) A ( B C ) = ( A B ) ( A C )

(C) ( A B ) C = ( A C ) ( B C )

(D) ( A B ) C = ( A C ) ( B C )
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3 81-L

2. T n + 1 = 4n + 5 T n 

(A) 4n – 5 (B) 4n – 1

(C) 4n + 1 (D) 4n + 5

                                                                                                       

3.

(A)
n C r
n P r

  =  r (B)
n P r
n C r

  =   r

(C)
n P r
n C r

  =  r (D)
n C r
n P r

  =   r

                                                                                                       

4. ( SD ) (  ) ( )  X    

( Coefficient of variation ) ( C.V. )

(A) C.V.  =  
X

   100 (B) C.V. =  
X

   100

(C) C.V. =  
 .  X

100  (D) X  =  
C.V.

   100

                                                                                                       

5. A 2  3  B 2  1. AX = B 

X 

(A) 1  2 (B) 3  1

(C) 2  1 (D) 1  3
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81-L 4

6. ( ) a 2 – 9    ( ) a 2 + 5a + 6   ( HCF )

(A) ( a – 9 ) (B) ( a – 3 )

(C) ( a + 3 ) (D) ( a + 9 )

                                                                                                       

7. A B H L 

(A) H  B = A  L (B) H + L = A + B

(C) H + B = A + L (D) H  L = A  B

                                                                                                       

8.
a‚ b ‚ c

  a = 0 
a‚ b ‚ c

  [ ] ( a + b ) 2 – c 2    

(A) 1 (B) 0

(C) 2 (D) – 2

                                                                                                       

9. a + b + c = 0 3abc 

(A) a 3 + b 3 + c 3 (B) a 2 + b 2 + c 2

(C) – ( ) a 2 + b 2 + c 2  (D) – ( ) a 3 + b 3 + c 3 
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5 81-L

10. a + b + c = 0 a 2 – bc 

(A) ( ab + bc + ca ) (B) ( ab – bc – ca )

(C) – ( ab – bc – ca ) (D) – ( ab + bc + ca )

                                                                                                       

11. / ( Quadratic equation ) 

(A) x 2 + 2 = 6 (B) 2m 2 = 72

(C) P 2 = 9 (D) K 2 = K

                                                                                                       

12. ( x ) ( Altitude ) 4 ( A )

(A) A  =  
1
2 x ( x – 4 ) (B) A  =  

1
2 x ( x + 4 )

(C) A  =  
1
2 ( 4x ) (D) A  =  

1
2 ( x + 4x )

                                                                                                       

13. a .  bn + 1n – 1n   

(A) ab  b
a

n (B) ab abn

(C) ab  a
b

n (D) ab an

                                                                                                       

14. ax 2 + bx + c = 0 ( Roots ) 

(A)
b
a (B)

– c
a

(C)
c
a (D)

– b
a
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81-L 6

15. O TA TB ( Tangents ).

 ATB = 60°  AOB =

T

B

A

O 60°

(A) 120° (B) 90° (C) 60° (D) 240°

                                                                                                       

16. ( Triplets ) 

(A) 8, 15, 17 (B) 5, 8, 17

(C) 5, 12, 17 (D) 3, 6, 9

                                                                                                       

17. 5 3 

?

A
B

(A) 8 (B) 2

(C) 5 (D) 3
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7 81-L

18. ( V )  ( r )

( h ), 

(A) V  =  
1
3  r 2 h (B) V  =  2 rh

(C) V  =  r 2 h (D) V  =  rh

                                                                                                       

19. ( Cone )  50 

( Slant ) 10 

(A) 125 (B) 2500

(C) 500 (D) 250

                                                                                                       

20.  ABC    DEF,   A =  D  B =  E 
 ABC

 DEF
  =

(A)
AC 2

DF 2 (B)
AB 2

DF 2

(C)
AC 2

EF 2  (D)
BC 2

DE 2

                                                                                                       

II. 10  1 = 10

21. ( Arithmetic progression ) n th a = 

d = ………………………… .

                                                                                                       

22. A, G, H ( Arithmetic Mean ),  

( Geometric Mean )   ( Harmonic Mean )   

AH  = ………………………… .
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81-L 8

23. A B ( AB ) l = ……………………… .

                                                                                                       

24. ( ) a 2 + b 2 + c 2    ……………………… 

                                                                                                       

25. ( Quadratic equation ) ax 2 + bx + c = 0 (  )

( Discriminant ) ………………………………… .

                                                                                                       

26. x  ( Roots ) m n ………………… .

                                                                                                       

27. ( a + b ) ( a – b ) ………………… .

                                                                                                       

28.  ABC =  AED = 90°   
AD
AC  =  

DE
BC =  

  ?  
?

E

CB

A

D

                                                                                                       

29. ( Surface area of sphere ) ……….. .

                                                                                                       

30. ( Network ) ………………… 
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9 81-L

III. 31. U = { 1, 2, 3, 4, 5, 6, 7, 9 } 

A = { x : x 10 }

B = { x : x 10 3  }

( A B ) l  =  A l  B l 2
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81-L 10

32.

n ( U ) = TV = 1000

n ( K ) = = 800

n ( E ) = = 400

n ( K E ) = = 300.

Shade

2
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11 81-L

33. ( Harmonic progression ) 1 3

( Harmonic Mean ) 20 1 3

( Progression ) ( Terms ) 2

34. 3 + 7 + 11 + ……… 20 2
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35.  
3x 2    1
 
 3       2

   +  
6x     5
 
 2      7

    =   
0     6
 
5     9

    x 2

36. ( n + 1 ) P 3 =  120 n 2

123000
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13 81-L

37. ( a + b ) 

c 

4s ( s – c ) 
a + b + c

2   =  s 2

38. 33  24 ( Product ) 2
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39.
5

3 +  2
 ( Rationalise ) 2

40. x 2 – 5x + 3 = 0 2
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41. 2x 2 – 4x + 1 = 0 m  n ( Roots )  

( m + n ) 2 + 4mn 2

42. ( Modulo ) 10 S = { 2, 4, 6, 8 } 2
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43. 5  8 

2
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17 81-L

44. (a) ( Direct common tangents ) 

(b) ( Transverse common tangent ) (c)

( Equal tangents ) (d) 2

Q

S

R

D

C

P

M

X

Y

A
B
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45. r  
r
2 

( Solid spherical ball ) 

( Spills ) 
r 3

2  

2
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46. ( Level ground plan ) 2

[  20   =  1  ]

C 

D 40

E 60

140

100

80

40
B 60

A
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47. 2

 

2     1     1
 
1     2     1
 
1     1     2

 

48. 2
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IV. 49. 5 10 

7 11 

3
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81-L 22

50. ( Frequency distribution )  ( Standard

deviation ) 3

C.I. f

10 – 14

15 – 19

20 – 24

25 – 29

30 – 34

2

3

5

3

2
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51. x 3 – 3x 2 – 10x + 24  x 3 – 2x 2 – 9x + 18 ( LCM )

3
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52. x 16 3 

( Perimeter ) 3
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53.  ABC AD  A  BC ( Altitude )  

DB : CD = 3 : 1 BC 2 = 2 ( ) AB 2 – AC 2   3
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54.

( Collinear ) 3
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V. 55. ( Geometric progression ) 2 4 30. 6

2 90. 1 8

4
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56. ( Corresponding )

4
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57. 5 3 10 

4
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58. y = x 2 y = 2x + 3 x 2 – 2x – 3 = 0

4
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